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Topic:- GENERAL HINDI

1) CANCELLED

&P 1 Yy T e F ¥ FhT @ 2
1,541

2. 89T

3. 390

4. 3T

Correct Answer :-

2) “qRAT” s H IgFA 39HA IR A ysq & v W FAFew g1
1.9 + i
2.9 + Aid
3.9 + 300d
4.9 + 37T

Correct Answer :-

3) ‘AGHA F 3o U3, T AT e F FieT AT IAFR 82
1. §9H

2. TR

3. qUITTqAT

Page- 1



4. SCeITaAT

Correct Answer :-

4) STHIOT A HINT T fAAYUT 5T TaOU W AT &Far mar &2

1. €T JUT 3TIROT & TR W

2. AT T & TR W
3. AseTdell TAT 3efdlg & TR W
4. fafd au1 gl & TR W

Correct Answer :-

« UsETdell TUT 3edle & TR W

5) RRw aIv aeq & foT Wl wHErh are eal @ 9fFT F AT - FEeE
1. GIATEY, e, AYRY, Mg

2. 3T, 39T, 9T, Fifag

3. 914, AT, THIH, olellA

4. ACT, ey, A=A, AT

Correct Answer :-

« Hcsl, hed, HoHYA, HaAleT

6) ‘3T FT AT Usg e & F Fier @1 872

1, HITH
)

2.g9H

3. 3TITH

4, JTATITHT

Correct Answer :-
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7) ‘R F FlT @1 gHw 872
1. cTATHIT FAN

2. ACYEY HATH

3. FHURT A

4. i) TAT™

Correct Answer :-

8) <fiar e et B F Fier @T arew {2
1. STTGaTY

2. HHATT

3.51H § PIg A

4, Fojared

Correct Answer :-

9) ‘3ierell FoEr Herax 1 7Y foear Rwedi & & =l @ 372
1. I fARrerET

2.8 o folehelelr

3.9 foAaTera

4. QI I fAHTeeAT

Correct Answer :-

. A FTeraT

10) ‘3@l ST o §HT &P & o & s AFT & @ &ieT a1 g2
1. 379TFAT

2. IAFg
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3. 3TTHET

4, ITHT

Correct Answer :-

Topic:- GENERAL ENGLISH

1) Choose the option that best expresses the meaning of the highlighted idiom/phrase:
This television program is for the birds.

1. bird lovers

2. bird watchers

3. Worthless

4. people who are dim witted

Correct Answer :-

+ Worthless

2) A sentence with an underlined word is given below. Choose the correct option which is closest in
meaning to the underlined word.

He seems to be harmless. We cannot accuse him of chicanery.
1. violence

2. short-temper

3. theft

4, dishonesty

Correct Answer :-

« dishonesty

3) Out of the following options, choose the most appropriate tense that best fills in to complete the
given sentence:

She a pretty dress to the party.

1. wears
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2. wearing
3. wear

4. wore

Correct Answer :-

4) Choose the option that correctly sequences the following sentences.

1. Manufacturers and assemblers dump defective pieces and they produce 1,050 tonnes of
electronic scrap annually.

2. The problem may not be alarming since India has a robust second-hand market for most
electronic gadgets.

3. Though data on e-waste is not easily available, Toxics link, an NGO focusing on toxicity-
related issues, estimates that 1.38 million computers are junked every year in India.

4. There are 85 million TV sets, 20 million mobile handsets and nine million computers in the
country.

5. Not to mention other electronic gadgets like television sets and audio systems that are
routinely junked.

1. 13425
2.31542
3. 54231
4. 32145

Correct Answer :-

« 31542

5) Out of the following four options, choose the incorrect sentence:
1. Our products is more expensive than other products.

2. Our products are less expensive than other products.

3. All the other products are more expensive than ours.

4. We are selling our products cheaper than others.

Correct Answer :-

« Our products is more expensive than other products.

Page- 5



6) Out of the following options, choose the correct form of adverb for the given sentence:

He speaks English
1. nicely

2. good

3. plainly

4, well

Correct Answer :-

o« well

7) Out of the following options, choose the correct form of verb that is in agreement with the
subject for the given sentence:

Standing at the professor's lectern __ two students.
1.is

2. has

3. were

4. have

Correct Answer :-

8) Out of the following options, choose the most appropriate usage to fill in the blank:

He has been treated
1. hastily

2. angrily

3. shamefully

4, arrogantly

Correct Answer :-
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« shamefully

Topic:- GENERAL KNOWLEDGE

1) Who among the following is NOT a member of Cabinet Committee on Security? /
farafaf@a & & sla gean w SRee afafa &1 aeew 71k 82
1. Minister of External Affairs / fae<r Wi & w3t

2. Minister of Finance / faa #3r

3. Minister of Law & Justice/ &he]al I = FJAY

4, Minister of Defence / T&T HAT

Correct Answer :-

» Minister of Law & Justice/ &lefel 3 =ama #AT

2) Koneru Humpy is related to which of the following games? /
F® gFul Aefaf@a # 4 59 @ 9 Fafta 82

1. Chess / ra¥sT

2. Badminton / CEILERG]

3. Tennis / a1 g

4, Boxing / ﬂmﬁﬁ

Correct Answer :-

o Chess / qaisT

3) Name the Thermal Power project that has been promoted by Madhya Pradesh Power
generating Company at Khandwa district in 2015. /

39 IH UTEY WSde &1 A7 a5y, F 2015 F 7T yeer & @sar O § Rud g
SR FHuelt garT Weated fFar arm g

1. Banas Thermal Power Project / oIl UHdl UaX lelee
2. Vindhyachal Super Thermal Power Station / Td€marel qa UHT o TCUT

3. Shree Singaji Thermal Power Station / 4t f&amSh UH ITaR TUqA
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4. Bansagar Power Project / SITUTHIIY YTdX EI G

Correct Answer :-

« Shree Singaji Thermal Power Station / #T fHamTSH UHT e T
4) Name the agency that launched Global Pulses Research Platform near Bhopal on Feb 2016? /

39 TSl FT AT a3y oW $adl 2016 F MUt F G TAGT TodH NI CATHH
I TR

1. IIPR
2. CPCRI
3. ICARDA

4. CRRI

Correct Answer :-

« ICARDA

5) Consider the following statements about the Niramaya Scheme of Madhya Pradesh
government. Choose the correct one. /

AT Y WHR A AT Ao & A #§ fr v [afoiad sy« w AR &
st @@ FuaT gRaT

1. The scheme provides different coverage for different disabilities. /

Ig AroteT RAffeT Rt & AT 37eRr-3769T FHadst YT #Hdr gl

2. The scheme provides same coverage for the beneficiaries irrespective of the type of disability. /

g Aiolell, [Thaerar & YR & W ATHITNAT I THAT halel Ul Hlal gl
3. Persons with developmental disabilities are not eligible for the scheme. /
IR [ARFARTAT3T arel safad 37 AT & [T T9T J8r ¢l

4, Certain criteria are mentioned for selection of persons with developmental disability for the scheme.
/

Aot & fAT i Aerelierdr arel sfFadl & T¥a & $ ARGs) F Soo@ fohar
IR B

Correct Answer :-
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« The scheme provides same coverage for the beneficiaries irrespective of the type of disability. /

Ig Ao, [FIear & Yk & W ITHTTNAT Sl THT halel YeleT Hlal ¢l

6) Carotenes are foundin . / w?l'_ A ITIT SATAT
L milk /g4

2. carrot / 3MTeY

3. meat / AT

4. lemon / F-ﬁ@l’\

Correct Answer :-

o carrot / 3ol

7) To attract the investments into Textile Sector, MP government has provided an interest
subsidy for the textile projects for ___ years at a rate of 5%. /

& 89 # A3 F 3T =T F 0w, ALTUST THER o 93T IRANSFA3T A1 5
yfaerad A T & asf & v sarer afws o= & 2

1. three / dleT
2. seven / dTd
3. eight / 3TS
4, five / U

Correct Answer :-

o five /9T

8) How many part-time members are there in the MP State Planning Commission? /
HEAYSY IS Aol AT H fhaer irifas d6eT 82

1. Six / &

2. Eleven / ¥g

3. Five / 9l

4, Bight / 3T®
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Correct Answer :-

o Eleven/3dRg

9) Which of the following districts is not a part of the project - “Increasing Adaptive Capacity to
Climate Change through Developing of Climate-Smart Villages” implemented by SKMCCC, EPCO,
Department of Environment, GoMP? /

Frafafea # ¥ o9 a1 a1, Ay WReR $ taeuad, Sdwiaen, yafaur funT & grt fraf<a
%ﬁm—mﬁ%ﬁm%mﬂmmmﬁa@ﬁmm"mﬂmwﬁwaﬁ
?

1. Sehore / @IgR
2. Bhopal / MITeT

3. Rajgarh / {51916
4, Satna / "ddT

Correct Answer :-

. Bhopal/ﬁ-ﬁW

10) is the only museum in India which houses contemporary folk and tribal art together
with urban art. /

HRA BT THHT FIETT ¢ Sl THSTRA A1 SR SIS Hell DY ™| pal & Y g

¥ ¥ g

1. Anhad / 3dgq

2. Vagarth / 33Ter

3. Rangmandal / T9T#HS

4. Roopankar / T9Teh

Correct Answer :-

« Roopankar / TUTHT

Topic:- GENERAL REASONING

1) Find the missing number: / ﬁlﬂ'\ﬂi@T sn?rﬁ
26, 37, 50, 65, ;101

1. 80
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2.81
3.82

4.77

Correct Answer :-

- 82

2) Find the average. / Sﬁ'\‘ﬁriﬂﬁ ]|
65, 89, 100, 98, 89 & 75

1. 100

2.86

3. 89

4. 105

Correct Answer :-

- 86

3) The below series uses a sequence of alphabets and numbers. Identify the incorrect combination:

/

TR & 1< ojzae ey ud WRemail BT AghH UART HRd! 81 Terd ST Uga |
(i))AY72ASS1HR

(ii) AY72AS81HR

(iii) AY7ZAS81HR

(iv) AY72AS81HR

4, 1ii

Correct Answer :-

4) Which one of the following four addresses is NOT EXACTLY same as the one given below?/
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fArfaf@a Rr av ar gat & & AT Ru 7w v F S o= Sl a1 v J6 8§72

2 Sukhumvit Soi 57 Klongtan Nua,
Wattana Wattana Bangkok, 10, 10110, Thailand
+66 2 797 0000

(i) 2 Sukhumvit Soi 57 Klongtan Nua,
Wattana Wattana Bangkok, 10, 10110, Thailand
+66 2 797 0000

(ii) 2 Svkhumvit Soj 57 Klongtan Nua,
Wattona Wattana Bangkok, 10, 10110, Thailand
+66 2 797 0000

(iii) 2 Sukhumvit Soi 57 Klongtan Nua,
Wattana Wattana Bangkok, 10, 10110, Thailand
+66 2 797 0000

(iv) 2 Sukhumvit Soi 57 Klongtan Nua,
Wattana Wattana Bangkok, 10, 10110, Thailand
+66 2 797 0000

4, iii

Correct Answer :-

5) A tyre has two punctures. The first puncture alone would have make the tyre flat in 7 minutes
and the second alone would have done it in 4 minutes. If air leaks out at a constant rate, then how
long does it take for both the punctures together to make it flat? /

T TR B ¢ TR €1 3idhd Ugd Uk A SRR &) TUle g4 § 7 fFe &1 90y aren 8 oi¥ 3fdbd gav
TR ¥ 39 4 fFe &1 99a e 71 afe gar v fFrad o3 @ arg? REdl 8, @ Sl TR g1 R ek &
|uTe gH # fa=m aag @

11
6?1111'11 /6% Helc
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6
3 —min /‘3£ Hele
4 11 11

Correct Answer :-

6) IfX and Y are two sets such that n(X) =23, n(Y) =39 and n(XUY) = 49, then find n(XMY). /
gfe X3ARYeE 3¢ 59 ¥R § & n@X) =23, n(Y)=39 3R aXUY) =49, @ n(XNY)

AT FA
1. 13
2.10
3.12

4,11

Correct Answer :-

7) If A=1,LOT = 47, then MAT = ? /
gfgd A =1, LOT = 47, A MAT = ?

1. 34

2. 40

3. 66

4.51

Correct Answer :-

Topic:- PEDAGOGY

1) The law of readiness was formulated by: /

deatar & RquTa &1 ufduee e & frar an
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1. Gagne / 3o

2. Thorndike / AfaisISsh
3. Pavlov / Yddia

4, Skinner / e

Correct Answer :-

. Thorndike / 2isisgH

2) involves thinking reflectively and productively, and evaluating the
evidence. /

# AR g § a7 3cules ™ § Riaa aur @eg w1 qearnd e

g Bl

1. Critical thinking / 18T foiceT

2. Abstract learning / 31T 3TERTH
3. Divergent thinking / 3M9aRT RideT
4. Reflection / gfafda

Correct Answer :-

« Critical thinking / 3Tg«T T=idel

3) Interaction analysis techniques for verbal behaviour have been developed by
i

AIf@F sqagr & fav wgenfaar favevor qwells oa@RT AR #r s
ot

1. Gagne / 3=

2. Brown / §13<T

3. Hurtz / gt
4. Flanders / walgd

Correct Answer :-

« Flanders / wolgd
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4) The proponent of Trial and error learning theory was: /
Taer-Afe it Rguia e & garr wearad B = o
1. Kohler / &lgek

2. Thorndike / «UlisSHh
3. Pavlov / Ygara

4. Skinner / THaT

Correct Answer :-

. Thorndike / 2T=IsEH

5) Verbs such as - write, list name and /abel- when used in an examination,
tests the: /

e W - forgar, gaf, aer v daer - F9 v qheT # sEAAT gt § A e
qI&ToT FHTl B

1. Application level / 3T TR
2. Evaluation level / #Hgdishel T
3. Knowledge level / 3T TR

4. Synthesis level / TLAYIT T
Correct Answer :-

« Knowledge level / 3T AT

6) Rewards and punishments serve as: /
TEFR 3R 5 B W F F a §

1. Extrinsic motivation / STE 9RO

2. Intrinsic motivation / 3R 9RO

3. Achievement motivation / 39elfstl UROT
4. Competence motivation / &&dT YROT
Correct Answer :-

« Extrinsic motivation / sTeT 9o
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7) Armstrong was the main exponent of |

JTEEET & fET ylaues I
1. Problem-solving method / @&aEar-ger fafer
2. Demonstration method / 9l fafer

3. Heuristic method / 31efaTeAT fafer

4. Project method / aRIreT fafer

Correct Answer :-

« Heuristic method / 3ﬁm?ﬁ afer

8) Human zygote contains: /

Alea geAsr # WA 8

1. 23 pairs of chromosomes / 23 Siar EICSES
2.21 pairs of chromosomes / 21 Sitar EGES
3.46 pairs of chromosomes / 46 SiIar EIEE
4,42 pairs of chromosomes / 42 S1ar CIGCSES
Correct Answer :-

« 23 pairs of chromosomes / 23 ST IJORYA

9) The barriers created in communication due to the dual meaning of words is a:

/

Usel & geY Y F FRUT AR A g arall srenv AT §:

1. Educational barrier to communication / TIR & fav & smer

2. Psychological barrier to communication / TaR & ToT Heldallelsh sTeT
3. Semantic barrier to communication / IR & T reare arer

4. Environmental barrier to communication / ¥R & foT gaTaRofir arer
Correct Answer :-

. Semantic barrier to communication / IR & o 2reardl arer
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10) Erikson believed that healthy development rests on: /

RFHT T AT 4T F Taer [ A W @k san &

1.a conflict between masculine and feminine elements. / 9¥Y 3R &I dedl & & Th
gy

2. a conflict between syntonic and dystonic tendencies. /

FATARA 3N fgAEaRa ggiial & dra v quy|

3.a unresolved Electra complex. / T AT SoleFel HAIT|

4.an unresolved Oedipus complex. / Teh 3eTel SE3UH FA|

Correct Answer :-

- a conflict between syntonic and dystonic tendencies. /

AR R fogEeaRa ygirat & & vs gey)

11) Thinking is essentially: /

Rae e ¥ F &

1. a physical phenomenon / T& $ifds Tcar
2.a cognitive activity / T FATlcHsh ITafafer
3.a psychomotor process / Teh HATIIOT FfshaT
4. an affective behavior / T& HHGLTl STdER
Correct Answer :-

. a cognitive activity / Teh JATllcas ITfafafer

12) Mnemonics are: /

wfa famer &

1. Economic aids / 3mf2e dgradr

2. Memory aids / T TgaH

3. Magic words / Sigs Ieg

4. Theoretical steps / degrifas TxoT

Correct Answer :-
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- Memory aids / T Hgr I

13) The roots of Dialectical method of inquiry can be traced back to: /
ST #T gaedcA® IGHTd F Hel FT Il $o7eh WHT ¥ o9IAT ST FHhall o:

1. Bertrand Russell / s5¢8 I8eT

2. Plato / Telel

3. Aristotle / 3TT&E]

4. Socrates / gehlld

Correct Answer :-

- Socrates / ghlld

14) Which of the following observations supports Howard Gardner's theory of
multiple intelligence? /

frfaf@d # @ i &1 Hqelda gias MR & TG-I&T $ Reyea A FAAT e

g?

1. All intelligences are similar to each other. / Tl FEfAFACATY, TH-GIN & TATT gIclr
gl

2. Intelligence is an interaction of analytical, creative, and practical intelligences. /
&Y, TAReUTeHe, TaelicAs 3R SIagIRe SEftaar 6T Uh 3ia:fhar gl

3. It is impossible to mold all the intelligences in a classroom. / Teh &H&T H T

ST T STolelT 39T &

4, Different intelligences are hierarchical in nature. / A=t gef@iecarT, ypfa &
qeTIshiAh Blell &

Correct Answer :-

« Intelligence is an interaction of analytical, creative, and practical intelligences. /

969, TAReNUTcHs, TellcAs 3R cIIagiRe Sef8sar $1 uh 3id:fhar gl

15) Which of the following is most important in the process of learning? /
sfterr i uftear  fes § & a1 weifds Ageayr §72
1. Economic condition of the child / s=ar $r 3nfdes Fafa
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2. Cultural background of the child / =< &I Hi¥hicle ISSHA
3. Style of learning / 31f&eTe &I Qeir
4. Examination result of the children / s=ar & 9reTT 9ROMH

Correct Answer :-

« Style of learning / 31feTT &r Aeir

Topic:- HINDI

1) AT-gATS A1 R FaEant s gass F Qv @ g7 #§ 39s s o w §
Teq 3R &1 Y T, AT, ar Tsieiias & @1l Reaide Re St a Aqsg-shaer
¥ af® iR g var § walraa Bew & wr-ar wfter 3 awpfa & o #gea
feaml qeafae RiT & w0 & g ofFa, afFq ik axwadt & iy gorer &1 wnereRR gar
gl

wee 4: 3 fIORE & 47 &7 W 82

L. AST-Shael & JHicRer 3N ared gar
2.5 & HIg el

3. 3T &1 U 3R, ATATToIeh AT JISteiiice &f &l
4. |iged 3 FERicT

Correct Answer :-

o 3oTeRT &F URT: 3TTeh, Aol AT Uslelliae & @l

2) Arq-gATS F AT gt & gage F Qv &7 g & 3@ @Furs @ w@ E,
e I & U7 A, T, an TeEfas & w1 qeade B st & #qsa-shaa
& 3aR® 3 T e & wHad fFEw & wr-wy wiiter ik awgla S oot deea
feaml geafae Rie & w0 & g ofFa, afFd 3 axwad! & 9fed Forer &1 wnTehR g
gl

g 1: AE—HHATST H HieT AT AT 2
1. TeYEY HATH
2. gded |ATH
3. gl AT
4. i TAH
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Correct Answer :-

3) AAE-HATS 1 RAffeT FAEBET F gase & T )W I # 3@ fF9RE g @ 8,
e I & I i, aenforn,ar TeEfas & w1 qeede @ st & #qsa-shaa
F Ial® MR T e & wAfaa fFew & wr-ay @iiter i awfa #t ot deea
feaml sEafaT RiT F w0 & g afFa, afeq 3k axwadt & 9fdy worer &1 wneTeER gar
gl

oA 2: TR, WA, Ustaiifas H HlaT T IeqT IIFd g3 &2
1. 5% 9
2. T Ycag
3.5% Ycad
4.% YT

Correct Answer :-

4) ATT-wATer A1 Affes gt # oo F AT )@ g7 F ww IR o W §
Yoq 3AHT &1 Y e, QAT ar ereifas & @1l et i St a #qsa-shaer
F aR® A’ Sew v & gafraa e F w-ay wiiRer i dwwfa w8t Aee
| seafdg R & & #F g afFq, afFa i avwad & ofew @ &1 IR g
gl

wea 3: 3T ARV 1 3R ofidw Fasd?

1. eaNide @ 3R FEEa

2. %ande &g

3. qRaNfde THE S T e

4, T%aNfde TOE & ®9 H g3 ik, Al 3R FIE

Correct Answer :-

5) CANCELLED

ST A F1 TFR T L, 3T Fer —
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1. Jifafd

2. 3nfady
3. AT
4, 3TTALT

Correct Answer :-

. fady

6) ‘Yag w« AT, Ay AR 1% |

g1 | 8T | R g&em o &l 91§ 11 - I§ IFadl fFadr 872
1. YR g G

2. qRdwg gRYTwg

3. e dToeh

4. slolald Icollehd

Correct Answer :-

7) 3t e o NS 9erET, AT Hr et § -
1. Af¥aea g

2. HITAT] T TGRT T glell

3. foraeT 15 | H@eEl o g

4. SR el Siga

Correct Answer :-

8)14:[1936§.ﬁwr%eﬁa@um@uaﬁmaﬁwma%mﬁmam#gm
INRCECE Y
2. AT
3. f&eelr
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4. STe[®

Correct Answer :-

9) IR & Hia @r g 2

1. TAATT qATH

2. FHURYT FATH

3. ¢ded §HE

4. Sgshfe T

Correct Answer :-

o T HATH

10) faFet & @ Fia-dt ygiv a§ Faar A 7€ fears &t 87
1. AfqeTaa Sfae & ufd crAday safea @ afafsar
2. ATHIA T TATOTeRT

3. EAHew JUAE T

4. TS I & 9fd EEIAE! giseapror

Correct Answer :-

. g I & gfd wWEIardr gitehor

11) T & YHRI F Jd&70 J § @FT & @ Fia-91 FIT 31599 272
1. YgHeT & HBUT TH dT =TT gl &l

2. Gh{UT &7 HATeTeh olifsheh 3R sidshicdd giar &l
3. 10T & U & 37 3R U & 9T giar gl
4. dATCH @ HAT gead AR sfage ey gidr g

Correct Answer :-

o YETT H HOUT @ I TAAT glal ol
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12) M Faw F aHEd F o A5 fFU 4, 397 F O A Fla-ar a9 @ 82
1. YT dehdTl

2. dig dehdl

3. cTehIUT dehdl

4, UE dshdl

Correct Answer :-

13) I SR A AU H TIF F fraar fig e §2
1.drd

2. g

3.q4

4, g9¢

Correct Answer :-

14) I TAeggaR AT F fFH FHFR F1 AeTH AT ST 82
1. TOATEr

2. Gisaaardy

3. AAITILIIOTATET

4. ATEART

Correct Answer :-

15) Fgdt aAT Fa T A @ fr R{ew F=2w 72

1. sfagra
2. Sird=T

3. GTHLOT
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4. Y@=

Correct Answer :-

16) TS & &9 # Y AT IT AFAE 8, Aiecd & &9 & 9 e &
1. GAIEE
2. SETldTE
3. B
4. Jfag

Correct Answer :-

17) 3@ el & A fAE €1 -0 aFg F1 W T H FF IHR Feal-

1.aa3qqﬁa%’raaa€ﬁa‘fcr¢r®—cr§3m
2. 38 39 FI T sarm|
3. 381 &gl 3R ag ey 1

4.9g SioTar o7 T a8 [Rei

Correct Answer :-

« 3 AU H R Farmi

18) v% faufr & arg qudr RAufy 3mem - frw Fyeay @ e &2
1. faSTelr THRaT

2. STl thehedl

3. FHIST T TGIST Tl

4. I H @Il glelm

Correct Answer :-

. Bic H @Il giel
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19) gH @I G% - $UH FleT AT 4T 82
1. YA aET

PRCIBGIEE I C2

3. T=ATdTdeh dreed

4. Atae g

Correct Answer :-

. faftaras areg

20) I T Heray FT Y ¢ -
1. €eTaTel glell

2. Reaa ofer

3. SEIGY et

4. 3UTT AT

Correct Answer :-

. Rega o=

21) IR T[oT W 99, 3q TF Aqeg A FIT Fgd o
LT

2. MY

3. fotottfamT

4. T[ClT

Correct Answer :-

22) g1 AT GIdT § - 59 9T FT FAdEs arFg g -
1. TEF & aRT AL FFT @S AT &

2. 5% o el fF g AT @i g

3. 5% o T WS
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4. A& TSH & gaRT WIS AT Bl
Correct Answer :-

- W& 5% & TERT WS S gl

23) gA WX ST - SHH FleT AT AT §?
1. e=TdTaeh aIad
2. [af¥ars g

3. 3iTaAldideh digg

4, AStae g

Correct Answer :-

24) A WX 13T - 91T HT AYUETES qeT g -
1. TR JH T3

2. JH TX ST @hd &

3. JH W AT SN

4, ¢ TR ST g2

Correct Answer :-

25) g% &1 6 Q<o #lT ar &2
1. YT+
2. Gcil+Ueh
3.9 + Th
4. 9ia+T

Correct Answer :-

. gfa+us
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Zﬁ)mm!@mmw-ﬁamm%?
1. ATATas Ty

2. YReAdTdh i

3. T=ATdTdeh dreed

4. Atae g

Correct Answer :-

. ATAgae 9y

27) $eTaTe, GFERY AT WHA FX - FIT AT IFT §2

1. STOATIeh dIH

o

2. [dEHIAd digd

3. gohdardes drerd
4, gegarde arerd

Correct Answer :-

o Stoildideh dlay

28) 4A9E & ¥ 3= H ‘FEE Siiad F1 AgHCT FaT AT §?
1. NG

2. FIATEHET

3. HAATA

4. IeeT

Correct Answer :-

29) W H F FF F ‘Rqraw A @ Fw@ 82
1. qAYY g feae

2. el

3. 3THRT &
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4. JerHieH

Correct Answer :-

30) fFH Feg-Hhed & AT #AgRd a1 F URAT AN [WEFR Yo fHar = g2
1. ITAT

2. g

3. e

4. GrarRrar

Correct Answer :-

31) faFT H @ qFA FI Fia-AT A G §?
1. GFIfeear & 99

2.2 9

3. §UTS 99

4, ST 97

Correct Answer :-

o #IT 9T

32) faest & @ WlaT YFel AT & MAAF el 67
1. AHHAR AT

2. BoTT SETG gfaadr

3. faeasyr garg A

4. STo G

Correct Answer :-

. BT UG gfader
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33) et # @ wia-ar ey yoR {7 vafea a8 82
1. g3y faas
2. difeld foAeer
3.9y foAser
4. Jae Tl

.Correct Answer :-

. garg Aey
34)ﬁmﬁﬁﬁa-mﬁ—q‘uanalwa€r%?
1. 3R &7 FHAT

2. Gieyeddar

3. JIgF & FTFdcd

4, AT YIUTAT UG Toild ATST el

Correct Answer :-

35) faeet & @ Hla-A1 ATCH FIRAEHTST HFAAT Fd el o7
1. 379 IS e

2. gh{T

3. 9818

4, 379G & Ueh el

Correct Answer :-

e 379G & Ueh feoT

36) foeet & @ FTAAFT gATE gIRT IRT T Hie W B2
L. 9ig #T g & &

2. AT

3. T
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4. AR

Correct Answer :-

37) fart F @ Fiar A gaAgor v fydwar € 82
1. GHFICEAT

2, qufar

3. GiaTeden

4, gargefrerdr

Correct Answer :-

. gareeirerar

38) ArTai@d & ¥ W fra ufa & a1 A= smeen?
1. 5181 f8Ira-313emra 1 et Hard o gl

2. 9TET U & T FI IR-a) &Iea gl

3. 3181 W0 1 AT T G 38k AH & FUeT GaNT Sl ST
4. TH & 3 T elchel GO EHT &
Correct Answer :-

- T & I HT eThel FUTT EIT &

39) AFAfaf@a & @ A9 &1 Sia-ar dwer 7@ 22
1. IRF-F=F0r

2. 3UTER
3. N

4, SEATGSAT

Correct Answer :-

. IRF-fRFoT
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40) gEarerll fafy &1 Hqer AT 372
1. GUsSr fafa

ACERTIES

3. UHeT Tl

4. STEAT AT

Correct Answer :-
. sEA fafy
41) ol oeg AfFdT & fhda 39-8¢ 81 &7
1.t
2.ar
3. 9K

4. dieT

Correct Answer :-

)T T TNT e T T F _ FEa &
1. g0

2. AT

3. Sremey

4, SIATT

Correct Answer :-

43) 39t g AT ATg aoTem, AFEFT 1 37 § -
1. 391 IRIET TG LA

2. AT F dielT @@

3. 319 T g AT FASAT
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4. g & TARE AT

Correct Answer :-

o 39T WRMAT ¥ LT

44) FATST, AgT, 3T A fqw av faweul & @ s ga=art &2
1. AT

2. HIHST

3. AfIeT

4.3%

Correct Answer :-

45) myfas AT dTwiat 1 FdvyH Fefferor R fagEe a fhar?
1. 3145 auf

2. S e

3. SL.U.TH.3R.EIA

4. HETAR UNIG fgadt

Correct Answer :-

o SLUTE.3R.EAA

46) S&TUN & 3MUR G FIT-AT & Q18T F A9 AT SATar 872
1. 9iars
2. GRST
3. g

4, WY

Correct Answer :-
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47) gt &1 dgell AfgeT FeEIHPR A A ST 57
1. o] $HSRY

2. §91 AfgeT

3. FIeRTeAT &t

4. GHET FANT g

Correct Answer :-

. T Afgem

48) R Freg A I sEER I §, & B sv=aw vd FwAai & et # J97
gl

1. ITrefY g

2. 9Rcg, T
3. YA Jar
4. STIART THTE, T

Correct Answer :-

50) R T ggeT HAER 9T &7
1. 3¢ AIUS

2. GTHCT HATIUS
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3. 99T Joie

4. FoIRYH 3WAR

Correct Answer :-

- 3&d AU

51) IFICT Y Fgl AT &2

1. ST &k AT AEA-favey guie gl

2. ST@T reepyaferd e aiRenfSes ereg &1 T=eT giar gl
3. 3181 31 T ydfa & @ve @l

4. STET TTHOT Aol & Asal o RASe ARG H TAT gar gl

Correct Answer :-

. STer AT Serarer & sl i Rse aifgcy A gAer gar B

52) a1 faels a9 97 9@ @ @ S & |

T W oA e 50 faed wew # || - weqa "lFaat e 7§ few #
1. AgIear gAm

2. I TS fo’rem

3. giAATIC I

4. ST TS

Correct Answer :-

53) AR & Sl @1 gAw 2
1. T A

2. FHURY FHATH

3. gded AT

4. gfq9) wAH

Correct Answer :-
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54) Aged & Ted H F*UT HEl FT HTAGT AT TAT aT SUIGIEAT Y Fed
gl

1. SITHTRT $1T

2. [aoma

3. AR H19

4, 3T

Correct Answer :-

55) ‘GGG ASE HT TIHA TAFdT fhd AT ST 82
1. JTEITHSOT INETH

2. 3T ETwg; YeFel

3. SR TG

4.@%1?@%?

Correct Answer :-

56) ‘AT WIcHS Fredel ¥ MRy ganT & ¢ Freg-aRemT §7?
1. 3 faeaary

2. A gUsr

3. A AFAT

4, 9T0sd TSl SETealry

Correct Answer :-

A B REEEGIE]

57) ‘Rularel” T ST &7 A §2

Page- 35



1. 313
2. BRET
3. ShrErET
4. HER

Correct Answer :-

58) ‘faRe’ a1 MaAM HT FHeT diell Fadl arell d5h’ ‘Algaaera Felfadl F FeEieR
FieT §?

1. 3sgd TafeHeg
2. AHAAT HIfeldr

3. 3T YhIRT

4. qoleg AGd

Correct Answer :-

59) ‘IHA FgT UT FFA F AAF oFd H F FieT §?
L gIGR golvT o

2. 18T T

3. 4971 T8

4. TS [Og

Correct Answer :-

60) ‘IET & =au’ FaT # & fher FiaAT F Far Smar &2
1. 3TS3BIT HidAT &I
2. dRICde & HidAT &l

3. ¥Rcdeg HSoT
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4. T¥aor Higat
Correct Answer :-

. dROcds & HidAT Al

61) ‘oTTuT amﬁmmg@rw%?
1. Y

2. STY

3.G9r

4. 3U

Correct Answer :-

62) ‘IeTrgl &1 qadr T garr faf@d sv=amq &2
1. BONRET AT ]

2. s\ HEST

3. 81 &g

4, YA HAT

Correct Answer :-

. YHIN R

63) ‘Gheleh Felch o WAl AlgehdT AU

a1 9 SR Sor @ Skw) - 57 e A FiA-ar eeR 87
1. §9F

2. JHS

3. 20lY

4. 3ETEX0T

Correct Answer :-

o YHh
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64) ‘Y ereg 6@ oI FT §?
1. 33l
2. el
3. S30eAT
4. 3TTET

Correct Answer :-

GS)WWWﬁ‘Wﬁ‘Fﬁ’W‘Wﬁ‘WwﬁﬁﬁH
frar §2

1. THATFT RICTURT

2. T HICTERT

3. PEUTHTFT HICITURT
4. JMATHAT HETYURT

Correct Answer :-

66) wlrer & ®iaT W1 WA &2
1. TegeY HAE
2. gded HATH
3. Sgsile AT
4. gfa9 gATH

Correct Answer :-

67) Administration &T f§&l TI=aoT 31T 87
1. HEATIT
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2. URIMHT

3. TRITHGIT

4. 3fAARY
Correct Answer :-

o URMAT

68) g+ w1 ¥ RA=dq Fier @r 32
1. I+

2. S T+3Th

3. T+37h

4. FA+3H

Correct Answer :-
. T+IH
69) o aFT & tH fFar 3 uF Far @, 3@ T @1 AT FEO
1. faene arges are
2. AT ars
3. Al AT
4, G AT

Correct Answer :-

70) yfagy fd ‘o fara OGN wmn, $iEr 391 @ gART 1 e e sfa F f §2
1. THYRY T8 feaTant

2. QTTHAITS IT¥E

3. gRepsoT Y

4, gET HANT gl

Correct Answer :-
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71) et R et # el Sl 872
1. HYIT
2. ATET
3. TR
4, HaTT

Correct Answer :-

72) AR WU Ay Iredr PN A frae s B AIAT Yo i aS
1. 20
2.22
3.24
4. 26

Correct Answer :-

. 22
73) H¥pa gl @ e el # Fed § -
1. G_TST
2. AT
3. dcEA

4, fagersy

Correct Answer :-

74) v 3= foaey #F Fla @ Fervar 7@ ol B -
1. 3791 ST Fgeh @RI AT &1t i Fofell =BT
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2. Tty fordlr fRaa 3eged dor e Iy & o for@r S amfiee|
3. fAaetr & 3TAH 3Tese # IW Sel a1 Fell a1dl T ARG glar =13 Tl
4. TORT & TR dRAFIAT glar A1y

Correct Answer :-

o YT ST HEHT GERT T a1 1 Golalr =AMRT

75) &R Rw av Reedt & & Fla ar fAaer v qor 32
1. SATHEAT

2. eI

3. FITcATcHRAT

4. Tt fr Fareherar

Correct Answer :-
. TR i Fareieran

76) e AT AN A For oMT Feriaal fodl, T F -

1. AT & QST ge8 & FHler 3R a3 o & 9ér

2. 5HE I S9N, AT HrehT 3R et

3. gAY SlideT, &8 AT Hiel AR FHel gl AT

4. 38 &gl UT, Videdis, 3R gEag siae

Correct Answer:-

- A Shae, e HT hicl 3R FHA gl oA

77) IrseHTT YO A@iAf, Ut § aEgme 97

1. ER doddds ucd

2. AGTCAT arelt

3. YfUsd ATl Sg®
4. Y. NI

Correct Answer :-
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78) RRedl wfaar H YANEE F Yadd Fd FeI-GHdd § AT ST §7
1. GET "o

2. IRHCAR

3. Fo&TT

4. 3rqTeg drom

Correct Answer :-

79) R=dt # dleie forEa & fav #la-8 s gRigy §2
1. FERATY 3IdTe

2. gIehic IS forer

3. FelrareT QT

4, TSI

Correct Answer :-

A ECIEGRIIEED

80) TR aFda H AIAFT Foial &1 giafafer &l
1. 33O AA

2. §AILAN

3. 5,30, 0T,

4. AAAZS

Correct Answer :-

\\\\\

81)Hﬂmmmﬁmmawﬁ$m#§m%?

1.5+
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2. T
3. H+Y
4. P

Correct Answer :-

82) TEI-TET & FiT °1 A &2
1. 3cTAHT AT

2. ACYRY HATH

3. FHYURT TAT

4. ¢ded HATH

Correct Answer :-

83) YTg AT - HgTaX F 37 §?
1. T SR

2. Y9dT ofdTi=lT

.99 H TP STl
4. 39 ST

Correct Answer :-

84) {fF TFuET F vadw FH AW T §7
1. I

2. 3687

3. 3TAAGICT

4. GUSY

Correct Answer :-
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85) i, &Y, AR, ws fFw s oRER & R 7 e §7
1. gfag HIWT gRAR

2. 3 AT 9RaR

3. ATHT-grAT IR

4. AeAI-frsaeir

Correct Answer :-

. gfds 9T 9RaR

86) Ty ¥ IMIT § -
1. TSTHTST

2. FATTATST

3. Teh 9id T el

4. T A ST AT

Correct Answer :-

o Teh Wid T stell

87) 34efr fFaa qaErT T 82
1. AU g ey

2. AgIear gAT

3. 97 e [FOrdr e

4, GIAAT sieeT Yo

Correct Answer :-

- TAYNT TF Gt

88) FETIgEY fFad garr IR {2
1. AU g G
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2. WEeT aeT e

3. QIUTH ARIIUT 9oy

4. gealdel el AT

Correct Answer :-

89) ‘qHW F AGF T §7
1. BL.aAdeg

2. #rsH Hrgelt

3. YHAR HRCAT

4, Tt QAT el

Correct Answer :-

. §irSH FIgelr

90) % it & AWEH FieT 82
1. $iTSH HIgeir

2. gHAR ARG

3. Tege QAT el

4, ST

Correct Answer :-

91) qur Mfdee fFad gErT W 2
1. TH@TeT
2. GaATaf

3. 37907
4. ARTETS

Correct Answer :-
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92) ‘¥ AW R #ig & eeia e §?

1. T g &1 efte @ fd 910 fig & 3aeid
2. GgF T AT TRC F fohdr a0 g & 3
3. 7T T Tffe & R aTT &g & 3iadTd

4. 37 & TR F 7Y v A7 F 3iaea

Correct Answer :-

. T &1 €ffe O R a0 A & 3add

93) “RIaT I & [TATHR FieT §?
1. TaAlelg

2. YT ey

3. YaATafe

4. 3TSOT

Correct Answer :-

94) ‘gAFIOT FT WA F4T gem?
1. HATYTT

2. forenor

3. fawereRoT

4. el

Correct Answer :-

95) ‘qfator & eur ¥ fAFer F @ < @ B2

1. 93&TuT
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2. gIReqor
3. 9IeTuT
4, Q&7

Correct Answer :-

96) ‘FERMAT HTeT & TATAT PleT &2
1. gRaer T ST

2. GIAAT sieat ot

3. 37T sTao

4. e TJFEr

Correct Answer :-

. gAY I F=Id

97) ‘qioAAeS REr F1 AN & F41 Fer o0 ¢
1. Functional Hindi

2. Official Language

3. Working Hindi

4. National Language

Correct Answer :-

« Functional Hindi

98) ‘FaMl’ &1 AT FAT BIMM?
1. G

2. 3THJST

3. 3rgard

4, AT

Correct Answer :-
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100) 3 ST URHH FIN 378 AheIdl AT AN — 50 qFT FT TS arFT -
1. IR & ST B TG et

2. GRAFAT O HaGT T6e gl

3. FIf e o gwa gl
4.@%%?W%WWG€W§3{TI

Correct Answer :-

o ORSHAT ST 379T %ol aidl|
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